CANONBUFQ
Canonbury Home Learning PRIMARY SCHOOL

Year 2 Maths

ANSWERS
Task 1 Task 2 Task 3 Task 4
Practice Practice Reasoning Problem solving
Can you Can you represent Explain your answers. :
represent these |these multiplications sa. Sam is incorrect because his array 4“621?}”‘];5 to be drawn showing 2 x 10
multiplications | as arrays? shows 3 lots of 7 and 7 lots of 3. and fxe
as arrays?
5x10=50
2x5=10 10x5=50
5x2=10
9x2=18
8x2=16 2x9=18
2x8=16
8x5=40
3x10=30 5x8=40 4b. Milo is incorrect because he has 4 lofs 4b. 2 arrays to be drawn showing 3 x 4
10x3=30 of 6 or § lofs of 4 and 4 x3.
7x3=21
7x5=35 3x7=21
5x7=35




